R —

-

\
\\

H AR REANLER
= A 10,000 A LR

TR 100% » B2 EE

XM FHER

E/Z—RBRFE

BANERREFBRERBERHBE

JEFRUN B 4R A S B FHERRE | FHBRIELA

RS

200,000 ;TR AT 260 000 760 7T 100%

200,001 5tz 300,000 T 422 000 3,440 7T 100%
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100,000 ;TR AT 36 000 3,490 7© 98%

100,001 -t & 200,000 7T 15 000 9,950 7T 60%

200,001 5tz 300,000 7t 10 000 10,000 7© 38%

300,001 5tz 400,000 7T 7 000 10,000 7u 28%

400,001 yt® 600,000 7T 10 000 10,000 7u 20%

600,001 ;t& 900,000 7T 9 000 10,000 7u 14%

900,000 JuLA £ 41 000 10,000 7T 0.3%
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